
pT bin [ GeV ] σ/σSM scaling
97 < pT < 133 1 + 0.001 cG − 0.001 c(3,1)

qq

133 < pT < 174 1 + 0.002 cG − 0.001 c(1,8)
qq − 0.003 c(3,1)

qq

174 < pT < 220 1 + 0.004 cG − 0.001 c(8)qd − 0.002 c(1,1)
qq − 0.003 c(1,8)

qq − 0.007 c(3,1)
qq −

0.001 c(8)qu − 0.001 c(1)uu

220 < pT < 272 1 − 0.001 c(1)dd + 0.007 cG − 0.002 c(8)qd − 0.004 c(1,1)
qq − 0.005 c(1,8)

qq −
0.014 c(3,1)

qq − 0.003 c(8)qu + 0.002 c(1)ud − 0.001 c(8)ud − 0.003 c(1)uu − 0.001 c(8)uu

272 < pT < 330 1− 0.002 c(1)dd − 0.002 c(8)dd + 0.011 cG − 0.004 c(8)qd − 0.008 c(1,1)
qq − 0.010 c(1,8)

qq −
0.026 c(3,1)

qq − 0.005 c(8)qu + 0.003 c(1)ud − 0.002 c(8)ud − 0.005 c(1)uu − 0.002 c(8)uu

330 < pT < 395 1− 0.004 c(1)dd − 0.003 c(8)dd + 0.016 cG − 0.007 c(8)qd − 0.014 c(1,1)
qq − 0.018 c(1,8)

qq −
0.050 c(3,1)

qq − 0.001 c(3,8)
qq − 0.009 c(8)qu + 0.006 c(1)ud − 0.004 c(8)ud − 0.010 c(1)uu −

0.004 c(8)uu

395 < pT < 468 1− 0.007 c(1)dd − 0.004 c(8)dd + 0.024 cG − 0.011 c(8)qd − 0.026 c(1,1)
qq − 0.032 c(1,8)

qq −
0.090 c(3,1)

qq − 0.001 c(3,8)
qq − 0.015 c(8)qu + 0.010 c(1)ud − 0.008 c(8)ud − 0.018 c(1)uu −

0.008 c(8)uu

468 < pT < 548 1− 0.012 c(1)dd − 0.007 c(8)dd + 0.035 cG − 0.018 c(8)qd − 0.047 c(1,1)
qq − 0.053 c(1,8)

qq −
0.155 c(3,1)

qq − 0.003 c(3,8)
qq − 0.001 c(1)qu − 0.024 c(8)qu + 0.017 c(1)ud − 0.013 c(8)ud −

0.033 c(1)uu − 0.014 c(8)uu

548 < pT < 638 1− 0.019 c(1)dd − 0.010 c(8)dd + 0.047 cG − 0.028 c(8)qd − 0.080 c(1,1)
qq − 0.088 c(1,8)

qq −
0.264 c(3,1)

qq − 0.003 c(3,8)
qq − 0.002 c(1)qu − 0.038 c(8)qu + 0.029 c(1)ud − 0.021 c(8)ud −

0.059 c(1)uu − 0.023 c(8)uu

638 < pT < 737 1− 0.028 c(1)dd − 0.015 c(8)dd + 0.062 cG − 0.042 c(8)qd − 0.135 c(1,1)
qq − 0.144 c(1,8)

qq −
0.441 c(3,1)

qq − 0.003 c(3,8)
qq − 0.003 c(1)qu − 0.061 c(8)qu + 0.047 c(1)ud − 0.034 c(8)ud −

0.103 c(1)uu − 0.039 c(8)uu

737 < pT < 846 1− 0.045 c(1)dd − 0.022 c(8)dd + 0.083 cG − 0.060 c(8)qd − 0.223 c(1,1)
qq − 0.232 c(1,8)

qq −
0.732 c(3,1)

qq − 0.004 c(1)qu − 0.093 c(8)qu + 0.077 c(1)ud − 0.053 c(8)ud − 0.171 c(1)uu −
0.064 c(8)uu

846 < pT < 967 1− 0.067 c(1)dd − 0.032 c(8)dd + 0.109 cG − 0.087 c(8)qd − 0.371 c(1,1)
qq − 0.361 c(1,8)

qq −
1.156 c(3,1)

qq − 0.008 c(3,8)
qq − 0.006 c(1)qu − 0.143 c(8)qu + 0.116 c(1)ud − 0.081 c(8)ud −

0.290 c(1)uu − 0.107 c(8)uu


